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Solved Examples

1. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

2.Find the slope of a line whose inclination is 150°

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_knxSQpNDrrcW
https://dl.doubtnut.com/l/_srkkThMuLWhq
https://dl.doubtnut.com/l/_LIzx7zZIpmDV

3. Find the inclination of the line having slope (i) —1

° Watch Video Solution

4.Find the inclination of the line having slope (i) — 3

° Watch Video Solution

5.Find the slope of the line joining (4, — 6) and ( — 2, — 5).

° Watch Video Solution

6. Determine z so that 2 is the slope of the line through (2,5) and (z, 3)-

° Watch Video Solution



https://dl.doubtnut.com/l/_LIzx7zZIpmDV
https://dl.doubtnut.com/l/_Xy8SDLRDVL0Q
https://dl.doubtnut.com/l/_LceJZsrS8M4F
https://dl.doubtnut.com/l/_Ne9t1niMpCVX

7. Show that the line joining (2,-3) and (-5,1) is parallel to the line joining

(7,-1) and (0,3).

° Watch Video Solution

8.Show that the line joining (2, — 3) and ( — 5, 1) is : Perpendicular to

the line joining (4,5) and (0, — 2)

° Watch Video Solution

9. Examine whether the line joining (8, 2) and ( — 5, 3) is parallel to or
perpendicular to or neither parallel nor perpendicular to the line joining

(16, 6) and (3, 15)

° Watch Video Solution



https://dl.doubtnut.com/l/_M5iG2MBQHyx3
https://dl.doubtnut.com/l/_NOwLE5rExkWR
https://dl.doubtnut.com/l/_sjj5pRuA2rqf

10. Without using the Pythagoras theorem, show that the points (4, 4)

,(3, 5)and (1, 1) arethe vertices of aright angled triangle.

° Watch Video Solution

1. If points (a,0), (0,b)and (z,y) are collinear, using the concept of

x Y
I that — + — = 1.
slope prove tha a + b

° Watch Video Solution

122 A quadrilateral has the vertices at the points
(—4,2), (2,6), (8,5)and (9, — 7) . Show that the mid points of the

sides of this quadrilateral are the vertices of a parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_v16Rx5fJjHL7
https://dl.doubtnut.com/l/_cnSdKOl68WPx
https://dl.doubtnut.com/l/_GROMdGYxXME0

13. Prove that the line joining the middle points of the two sides of a

triangle is parallel to the third side.

° Watch Video Solution

14.1f A(2,0), B(0, 2)andC(0, 7) are three vertices, thaken in order, of an
isosceles trapezium ABCD in which AB | | DC. find the coordinates of

D.

° Watch Video Solution

15. In Figure, time and distance graph of a linear motion is given. Two
positions of time and distance are recorded as, when T =0, D = 2 and
when T = 3, D = 8. Using die concept of slope, find law of motion, i.e, how

distance depends upon time.

° Watch Video Solution



https://dl.doubtnut.com/l/_uPgWFfAlTskP
https://dl.doubtnut.com/l/_6P27eCGcdWxX
https://dl.doubtnut.com/l/_I0HqLuMhwwAa
https://dl.doubtnut.com/l/_t5TyNVFFHOln

16. Consider the following population and year graph: find the slope of

the line AB and using it find what will be the population in the year 2010.

° Watch Video Solution

17. Find the equation of the line parallel to the y-axis and 3 units to the

right of it.

° Watch Video Solution

18. Find the equation of the line parallel to x-axis and passing through the

point (3, — 4).

° Watch Video Solution

19. Find the equation of the line perpendicular to x-axis and having

intercept -2 on x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_t5TyNVFFHOln
https://dl.doubtnut.com/l/_MG4kVPqehZe7
https://dl.doubtnut.com/l/_2z0fWeo2GsxD
https://dl.doubtnut.com/l/_FCTmorCnNvfe

20. Find the equation of the line which cuts off an intercept —5 on y-axis

and has slope 3

° Watch Video Solution

21. Find the equation of the line intersecting the y-axis at a distance 2
units above the origin and making an angle of 30° with the positive

direction of x-axis.

° Watch Video Solution

22. Find the equation of the straight line which makes an angle of 15°
with the positive direction of x-axis and which cuts and intercept of

length 4 on then negative direction of y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_FCTmorCnNvfe
https://dl.doubtnut.com/l/_AobQcwgVf4U0
https://dl.doubtnut.com/l/_DJsKvWwb6zVp
https://dl.doubtnut.com/l/_IDmy9FkiX2zi
https://dl.doubtnut.com/l/_vevvow2k1RaR

23. Find eqn of line which cut off an intercept of 4 units on the x- axis and

makes an angle of 30° with positive direction of y- axis.

° Watch Video Solution

24. Find the equation of the line passing through ( — 4, 3) and having

I —.
slope 2

° Watch Video Solution

25. Find the equation of the straight line which passes through the point

(1,2) and makes an angle 6 with the positive direction of x-axis where

1
cosf = — —.

3

° Watch Video Solution

26. A line through the point A(2, 0) which makes an angle of 30° with the

positive direction of x-axis is rotated about A in clockwise direction


https://dl.doubtnut.com/l/_vevvow2k1RaR
https://dl.doubtnut.com/l/_cZVKpmatEXmk
https://dl.doubtnut.com/l/_qt0zxJtEsoYD
https://dl.doubtnut.com/l/_STvEwk59OK0z

through an angle 15°. Find the equation of the straight line in the new

position.

° Watch Video Solution

2
27. Find the lines through the point (0,2) making angles % and%r with

the x-axis. Also, find the lines parallel to the cutting the y-axis at a

distance of 2 units below the origin.

° Watch Video Solution

28. The mid-points of the sides of a triangle are
(2,1), ( — 5, 7)adn( — 5, — 5)- Find the equations of the sides of the

triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_STvEwk59OK0z
https://dl.doubtnut.com/l/_tZvfzJmPaZeT
https://dl.doubtnut.com/l/_FGSxhbxOmoLq

29.1f A(1,4), B(2, — 3) and C( — 1, — 2) are the vertices of a AABC.
Find (i) the equation of the median through A (ii) the equation of the

altitude through A. (iii) the right bisector of the side BC.

° Watch Video Solution

30. Find the equation of the perpendicular beisector of the line segment

joining the points (1, 1) and (2, 3).

° Watch Video Solution

31. Show that the perpendicular drawn from the point (4, 1) on the line

segment joining (6, 5)and(2, — 1) divides it internally in the ratio 8: 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_XlHLMxgQAVx1
https://dl.doubtnut.com/l/_0KitmzVlp50y
https://dl.doubtnut.com/l/_SpVdQ4asIGXL

32. One side of a square makes an angle o with x axis and one vertex of
the square is at origin. Prote that the equations of its diagonals are
z(sina + cosa) = y(cos a — sina) or
z(cosa — sina) + y(sina + cos a) = a, where a is the length of the

side of the square.

° Watch Video Solution

33.Find the equation of the line joining the points ( — 1, 3)and (4, — 2).

° Watch Video Solution

34. Find the equations to the diagonals of the rectangle the equations of

whose sidesarez = a,z = a’,y = bandy = b.

° Watch Video Solution



https://dl.doubtnut.com/l/_OdtzAJCL43BT
https://dl.doubtnut.com/l/_RnFzHmkcQJYB
https://dl.doubtnut.com/l/_Ex34BTBls2YZ

35. Find the equation of the internal bisector of angle BAC of the triangle

ABC whose vertices A, B, C are (5, 2), (2, 3) and (6, 5) respectively

° Watch Video Solution

36. A rectangle has two opposite vertices at the points (1, 2) and (5,5). It
these vertices lie on the line x = 3 , find the other vertices of the

rectangle.

° Watch Video Solution

37. In what ratio is the line joining the pints (2, 3)and (4, — 5) divided

by the line passing through the points (6,8) and (-3,-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_yKbC5LvVsxoe
https://dl.doubtnut.com/l/_wzf2VcT326NH
https://dl.doubtnut.com/l/_PmDcenjVPvYO

38. The co-ordinates of the vertices P, Q, R&S of square PQRS
inscribed in the triangle ABC with vertices
A = (0,0), B(3,0)&C = (2, 1) given that two of its vertices P, Q are on

the side AB are respectively :

° Watch Video Solution

39. Find the equation of the straight line which passes through the point

(3, 4) and whose intercept on y-axis is twice that on x-axis.

° Watch Video Solution

40. A straight line cuts intercepts from the axes of coordinates the sum
of whose reciprocals is a constant. Show that it always passes though as

fixed point.

° Watch Video Solution



https://dl.doubtnut.com/l/_CAYMQw6ZdJnH
https://dl.doubtnut.com/l/_mYHcJkWWbWVl
https://dl.doubtnut.com/l/_A6HIRhqyOIzg
https://dl.doubtnut.com/l/_3QtHm6J5nDMN

41. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 1 and — 6, respectively.

° Watch Video Solution

42. Find the equations of the line which passes through the point (3, 4)

and the sum of its intercepts on the axes is14.

° Watch Video Solution

43. A straight line passes through the point (3, — 2). Find the locus of

the middle point of theportion of the line intercepted between the axes.

° Watch Video Solution

44.Find the equation of the line upon which the length of perpendicular
p from origin and the angle apha made by this perpendicular with the

positive direction of x-axis arep = 5, a = 135°


https://dl.doubtnut.com/l/_3QtHm6J5nDMN
https://dl.doubtnut.com/l/_KhMBCa5YAnb0
https://dl.doubtnut.com/l/_Yo89XBJFTWYr
https://dl.doubtnut.com/l/_bqNhjxORA4Xd

° Watch Video Solution

45. Sketch roughly the line satisfying the following conditions and write

their equations: Inclination § = 150° and distance from origin = 3

° Watch Video Solution

46. Find the equation of the straight line upon which the length of
perpendicular from origin is 34/2 units and this perpendicular makes an

angle of 75° with the positive direction of x-axis.

° Watch Video Solution

47. Find the equation of the straight line upon which the length of the

perpendicular from the origin is 2 and the slope of this perpendicular is

5
12

° Watch Video Solution



https://dl.doubtnut.com/l/_bqNhjxORA4Xd
https://dl.doubtnut.com/l/_WiGx8vy0JfnA
https://dl.doubtnut.com/l/_FzzZL2cZupX1
https://dl.doubtnut.com/l/_9bo10YmbCZE3

1
48.A canal is 45 kms from a place and the shortest route from this place
to the cenal is exactly north-east. A village is 3 kms north and 4 kms east

from the place. Does it lie on canal?

° Watch Video Solution

49. Find the equation of the straight line which makes a triangle of area
96,/3 with the axes and perpendicular from the origin to it makes an

angle of 30° with y-axis.

° Watch Video Solution

50. Find the equation of the line through ( — 2,1) in symmetric form
when the angle made by the line with the positive direction of x-axis is

45°

° Watch Video Solution



https://dl.doubtnut.com/l/_9bo10YmbCZE3
https://dl.doubtnut.com/l/_vbZVsPuEovy6
https://dl.doubtnut.com/l/_EfWpSNVWdpY0
https://dl.doubtnut.com/l/_4i2Wtucb9hc7
https://dl.doubtnut.com/l/_Wo7R8n1W5DqB

51. find the equation of the straight line which passes through the point

3
(3, 2) and whose gradient is Z.ﬁnd the co-ordinate of the points on the

line that are 5 units away from the point (3, 2).

° Watch Video Solution

52.Find the direction in which a straight line must be drawn through the
point (1, 2) so that its point of intersection with the line

T + oy 4 may be at a distance of 3 units from this point.

° Watch Video Solution

53. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to a line having slope 3/4.

° Watch Video Solution



https://dl.doubtnut.com/l/_Wo7R8n1W5DqB
https://dl.doubtnut.com/l/_RmCUJdnIsYp0
https://dl.doubtnut.com/l/_i5k6Xw2LxRl2

54. A straight line through Q(\/g, 2) makes an angle % with positive
dircction of the x axis. If the straight line intersects

V3t — 4y + 8 = 0atP.Find distance PQ?

° Watch Video Solution

55. Find the coordinatse of the points at a distance 4/2 units from the
point ( — 2, 3) in the direction making an angle of 45° with the positive

direction of x-axis.

° Watch Video Solution

56. The co-ordinates of the extremities of one diagonal of a square are
(1,1) and (1, — 1) Find the co-ordinates of its other vertices and the

equation of the other diagonal

° Watch Video Solution



https://dl.doubtnut.com/l/_qUdQPg73iS1V
https://dl.doubtnut.com/l/_brihFVJYV3JF
https://dl.doubtnut.com/l/_7BLmXt0XMyKe
https://dl.doubtnut.com/l/_Beu5agurMF7j

57.In the given figure, PQR is an equilateral triangle and OSPT is a square.
If OT = 24/2 units find the equation of lines

OT, 0OS, SP,QR, PR, and PQ.

° Watch Video Solution

58.The length L (in centimetre) of a copper rod is a linear function of its

Celsius temperature C. In an experiment, if L = 124. 942 when
C = 20and L= 125.134 when C = 110, express L in
terms of C.

° Watch Video Solution

59. The owner of a milk store finds that, he can sell 980 litres of milk each
week at Rs 14/litre and 1220 litres of milk each week at Rs 16 / litre.
Assuming a linear relationship between selling price and demand, how

many litres could he sell weekl

° Watch Video Solution



https://dl.doubtnut.com/l/_Beu5agurMF7j
https://dl.doubtnut.com/l/_byxIGnTuHwMm
https://dl.doubtnut.com/l/_8Ob6FQkpVTGS

60. Transform equation /3y — 3z = 3 to the slope intercept form and

also find the angle which straight line makes with the x-axis.

° Watch Video Solution

61. Reduce = + /3y + 4 = 0 to the : Slope intercepts form and find its

slope and y-intercept.

° Watch Video Solution

62. Find the point of

vy _ z  Y_
4—0and2+ =1

r
3 3

intersection

of

the

line,

° Watch Video Solution



https://dl.doubtnut.com/l/_8Ob6FQkpVTGS
https://dl.doubtnut.com/l/_tIFm2fTM0dGN
https://dl.doubtnut.com/l/_AnWMRLDwVuW6
https://dl.doubtnut.com/l/_lYoLlMeQlavD

63. Find the coordinates of the incentre and centroid of the triangle
whose sides have the equations

3r — 4y = 0, 12y + bx = Oadny — 15 = 0.

° Watch Video Solution

64. Find the area of the triangle whose sides are:

3r —2y+1=0,3zr+y+4=0and 3z —5y+34 =0

° Watch Video Solution

65. \ The equation of the medians of a triangle formed by the lines

r+y—6=0,z —3y—2=0andbz —3y+2=20Iis

° Watch Video Solution



https://dl.doubtnut.com/l/_tTeNBcgKEVkg
https://dl.doubtnut.com/l/_ZTSxcvFreuTB
https://dl.doubtnut.com/l/_dAxrDcmk4hEE

66. Find the coordinates of the circumcentre of the triangle whose

vertices are (5, 7), (6, 6) and (2, — 2)

° Watch Video Solution

67.Show that thelines4z +y—9 =0,z —2y+3=0,52 —y—6 =10

make equal intercepts on any line of slope 2.

° Watch Video Solution

68. A line is such that its segment between the lines 5z — y + 4 = 0 and

3z + 4y — 4 = O'is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

69. Find the coordinates of the orthocentre of the triangle whose vertices

are (0,1),(2, —1) and ( — 1, 3)

| e |


https://dl.doubtnut.com/l/_9vMbpjKIa3fK
https://dl.doubtnut.com/l/_MUQJJp23ZhBK
https://dl.doubtnut.com/l/_t7EytEGAf7zx
https://dl.doubtnut.com/l/_UgStGEEEepmV

l & Watch Video Solution J

70. Two vertices of a triangle are (3, — l)and( —2,3) and its

orthocentre is at the origin,. Find the coordinates of eth third vertex.

° Watch Video Solution

71. Two consecutive sides of a parallelogram are 4z + 5y = 0 and
T7x 4+ 2y = 0. If the equation of one diagonal is 11z = 7y = 9, find the

equation of the other diagonal.

° Watch Video Solution

72. Prove that the lines
V3T +y=0,3y+z=0, /3z+y=1land3y+z =1 form a

rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_UgStGEEEepmV
https://dl.doubtnut.com/l/_ZarGQXrbv7K0
https://dl.doubtnut.com/l/_XNOwqB5DpUQN
https://dl.doubtnut.com/l/_NzBTOQOJPylE

73. Prove that the straight lines '4x+7y=9, 5x-8y+15=0 and 9x-y+6=0 are

concurrent.

° Watch Video Solution

74. Find the wvalue of p, so that three lines

3t +y=2=0,pr + 2y — 3 = 0and 2x — y = 3 are concurrent.

° Watch Video Solution

75. If the lines whose equations are
Yy =miT + ¢,y = Mex + ¢y and y = mgx + c3 meet in a point, then

prove that : mq(cy — ¢3) + ma(c3 — ¢1) + m3(c; —cy) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_aiYakDBS4Iyv
https://dl.doubtnut.com/l/_CQkciMY1S9ca
https://dl.doubtnut.com/l/_ojIZeJj32zZj

76. If the lines piz + quy = 1, ;3¢ + oy = 1 and p3sx + g3y = 1 be
concurrent, show that the points (p1, q1), (p2, ) and (ps, g3) are

colliner.

° Watch Video Solution

77. The lines

pP-@z+(g—r)y+(r—p) =0qg—r)z+(r—py+(P—q =0,(z-

° Watch Video Solution

78. Prove that the medians of a triangle are concurrent and find the
position vector of the point of concurrency (that is, the centroid of the

triangle)

° Watch Video Solution



https://dl.doubtnut.com/l/_0C7JtWKSQLgq
https://dl.doubtnut.com/l/_YIwo6kJPEE9A
https://dl.doubtnut.com/l/_ycYVlLoiX7Pm

79. Find the angle between the lines y— 3z —5=0 and

V3dy—z+6=0.

o Watch Video Solution

80. Find the angle between the lines

xr—2y+3=0and 3z +y—1=0.

o Watch Video Solution

81.Find the angle between the lines 3z =5 and 3z + 5y —2 =10

o Watch Video Solution

82.Find the angle between = + y = 3 and the line joining points (1,1) and

(-3’4)

o Watch Video Solution



https://dl.doubtnut.com/l/_kuOi57MrDw3b
https://dl.doubtnut.com/l/_HQXJxRf5X8VB
https://dl.doubtnut.com/l/_edZKXOKZFhTa
https://dl.doubtnut.com/l/_xp2O5jW5nLwS

8. Prove that the points (2,-1), (0,2), (3,3) and (5,0) are vertices of a

parallelogram. Also, find angle between its diagonals.

° Watch Video Solution

84. s the triangle, whose vertices are (5, — 6),(1,2) and ( — 7, — 2), a
right-angled triangle, an acute-angled triangle or an obtuse-angled

triangle?

° Watch Video Solution

85. Prove that that s triangle which has one of the angle as 30° cannot

have all vertices with integral coordinates.

° Watch Video Solution



https://dl.doubtnut.com/l/_xp2O5jW5nLwS
https://dl.doubtnut.com/l/_QuR2hVizSfwF
https://dl.doubtnut.com/l/_SgdGDobhvz3i
https://dl.doubtnut.com/l/_6GzQ1uS7LzhV

86. Find the value of k if the straight line
20 +3y+ 4+ k(6z —y+12) =0 is perpendicular to the line

Tz + by — 4 = 0.

° Watch Video Solution

87. Examine which of the following pair of lines are intersecting, parallel,

coincident and perpendicular: z +y+2 =0 and 2z +2y — 7 =10

° Watch Video Solution

88. Examine which of the following pair of lines are intersecting, parallel,

coincident and perpendicular: z +y+2 =0 and 2z — 3y +5 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_3dTuuD48Dirr
https://dl.doubtnut.com/l/_ptieS2dvOdMa
https://dl.doubtnut.com/l/_XZtYJwjfbiX0

89. Examine which of the following pair of lines are intersecting, parallel,

coincident and perpendicularx +y+2 =0 and 2z +2y+4 =10

° Watch Video Solution

90. Examine which of the following pair of lines are intersecting, parallel,

coincident and perpendicular2z + y+2=0and  —2y+5 =10

° Watch Video Solution

91.If A(2, 0), B(0, 2)andC(0, 7) are three vertices, thaken in order, of an
isosceles trapezium ABCD in which AB | | DC. find the coordinates of

D.

° Watch Video Solution



https://dl.doubtnut.com/l/_pgdK9NwyR25j
https://dl.doubtnut.com/l/_lzlVduwLOMtl
https://dl.doubtnut.com/l/_0Ty9gISebxt0

92. . The points (1,3), (5, 1) are the opposite vertices of a rectangle. The
other two vertices lie on the line y = 2x + c. Find c and remaining two

vertices.

° Watch Video Solution

93. A ;B and C are the points (2, 0), (5,0) and (5, 3) respectively. Find

coordinates of D such that ABCD is a square.

° Watch Video Solution

1
94. If the angle between two lines is % and slope of one of the lines is 3

, find the slope of the other line.

° Watch Video Solution



https://dl.doubtnut.com/l/_LUqt4c1rhgZ2
https://dl.doubtnut.com/l/_6TuS719cPaXn
https://dl.doubtnut.com/l/_XmmnXLuPmvqs

95. Find the slope of the lines which make an angle of 45° with the line

3z —y+5=0.

° Watch Video Solution

96. The line 2z — y = 5 turns about the point on it, whose ordinate and
abscissae are through an angle of 45° in the anti-clockwise direction.

Find the equation of the line in the new position.

° Watch Video Solution

97.Find the equation of the lines through the point (3, 2) which make an

angle of 450 with the linex — 2y = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_KoVpt9TKLKz2
https://dl.doubtnut.com/l/_J5wqPPtxwinD
https://dl.doubtnut.com/l/_ogU7puHva13Q

98. A vertex of an equilateral triangle is 2,3 and the opposite side is

x + y = 2. Find the equations of other sides.

° Watch Video Solution

99. On the portion of the line  + 3y — 3 = 0 which is intercepted
between the coordinate axes, a square is constructed on the side of the
line away from the origin. Find the coordinates of the point of

intersection of its diagonals. Also, find the equations of its sides.

° Watch Video Solution

100. Theorem : The area of a triangle the coordinates of whose vertices
are (z1; 41); (@25 2) and (z3; ys) is 1/2|(x 1y_2-y_3)+x 2(y_3-y_1)+x 3(y_1-

y.2)|

° Watch Video Solution



https://dl.doubtnut.com/l/_1mCJFALIUoWh
https://dl.doubtnut.com/l/_7zXmB1wEA4yS
https://dl.doubtnut.com/l/_GTGo5Ap5Jf8M
https://dl.doubtnut.com/l/_bpqAnse0YwO7

101. A line 4z + y = 1 passes through the point A(2,7) and meets line BC
at B whose equation is 3z — 4y + 1 = 0, the equation of line AC such
that AB = AC is (a) 52x +89y +519=0(b) 52x +89y-519=0 c) 82x

+52y+519=0 (d) 89x +52y -519=0

° Watch Video Solution

102. The st. lines 3z + 4y = 5 and 4= — 3y = 15 interrect at a point
A(3, — 1). On these linepoints B and C are chosen so that AB = AC.

Find the possible eqns of the line BC pathrough the point (1, 2)

° Watch Video Solution

103. A ray of light is sent along the line x — 2y — 3 = 0 upon reaching
the line 3z — 2y — 5 = 0, the ray is reflected from it. Find the equation

of the line containing the reflected ray.

° Watch Video Solution



https://dl.doubtnut.com/l/_bpqAnse0YwO7
https://dl.doubtnut.com/l/_TE8UAYWfFz54
https://dl.doubtnut.com/l/_v6GIhD3t4HXJ
https://dl.doubtnut.com/l/_A90VR6Qi2gc6

104. The equation of the line through (3, 4) and parallel to the line

y=3x +5is

° Watch Video Solution

105. Find the equation of the straight line through (2, 3) and

perpendicular to the line 4z — 3y = 10

° Watch Video Solution

106. The equation to the straight line passing through the point
(a cos® 9, asin® 0) and perpendicular to the line x secf + ycosecd = a
is x cosf — ysinf = acos 20 x cos + ysinf = acos 20

x sinf + ycos @ = a cos 20 none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_A90VR6Qi2gc6
https://dl.doubtnut.com/l/_lEGO19SFha2I
https://dl.doubtnut.com/l/_GRyjaZtLkT8B

107. Find the equation of a straight line perpendicular to the line

x — 2y + 3 = 0 and having intercept 3 on x-axis.

° Watch Video Solution

108. Find the equation of the straight line which has y-intercept equal to

4/3 and is perpendicular to 3z — 4y + 11 = 0.

° Watch Video Solution

109. Find coordinates of the foot of perpendicular, image and equation of

perpendicular drawn from the point (2, 3) to the liney = 3z — 4.

° Watch Video Solution

110. Find the image of the point ( — 8, 12) with respect to line mirror

Az + Ty + 13 = 0.

| e |


https://dl.doubtnut.com/l/_D8G31nzwtpCv
https://dl.doubtnut.com/l/_oKBEqiyzJ3sH
https://dl.doubtnut.com/l/_0EHZ8ce1Hc3r
https://dl.doubtnut.com/l/_6jBPlJClx9k8

l &J Watch Video Solution J

M. The equations of two sides of a triangle are
3z — 2y + 6 = 0 and 4z + 5y — 20 and the orthocentre is (1,1). Find the

equation of the third side.

° Watch Video Solution

112. One side of a rectangle lies along the line 4z + 7y + 5 = 0. Two of its

vertices are ( — 3, 1) and (1, 1). Then find the equations of other sides.

° Watch Video Solution

113. The equations of the perpendicular bisectors of the sides ABandAC
of triangle ABC are x —y+ 5 = 0 and = + 2y = 0, respectively. If the

point A is (1, — 2), then find the equation of the line BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_6jBPlJClx9k8
https://dl.doubtnut.com/l/_1QqcZUNmzltW
https://dl.doubtnut.com/l/_Cq4VAjRaXHUE
https://dl.doubtnut.com/l/_xpBz6jN9lm04

114. Find the equation of the straight line which passes through the point
(2, —2) and the point of intersection of the lines

5t —y =9 and z + 6y = 8.

° Watch Video Solution

115. Find the equation of the straight line which passes through the
intersection of the lines * — y — 1 = Oand2z — 3y + 1 = 0 and parallel

(i) z — a€s(it)y — a&s(iii)3x + 4y = 14.

° Watch Video Solution

116. Find the equation of the straight line which passes through the point
of intersection of lines 3z — 4y — 7= 0 and 12z — 5y — 13 = 0 and is

perpendicular to theline2z — 3y +5 =20

° Watch Video Solution



https://dl.doubtnut.com/l/_7uJt1ncEc4pl
https://dl.doubtnut.com/l/_sPAAZ5Bga9k0
https://dl.doubtnut.com/l/_nqpSCfJ3erfe
https://dl.doubtnut.com/l/_xdPr2aPYIEX0

117. Find the equations of the straight lines passing through the point of
intersection of the lines z+3y+4=0and 3x +y+4=0 and

equally inclined to the axes.

° Watch Video Solution

118. Coordinates of the orthocentre of the triangle whose sides are 3x -2y

=6,3x + 4y + 12 = 0 and 3x-8y+12=0 is

° Watch Video Solution

19.lines Ly:ax + by + c = 0and Ly:lx + my + n = 0 intersect at the
point P and make a angle 8 between each other. find the equation of a
line Ldifferent from L, which passes through P and makes the same

angle 6 with L,

° Watch Video Solution



https://dl.doubtnut.com/l/_xdPr2aPYIEX0
https://dl.doubtnut.com/l/_IqqTU2dRCuIH
https://dl.doubtnut.com/l/_arKzzg3QfM91

120. Show that the straight lines given by z(a + 2b) + y(a + 3b) = a for

different values of aandb pass through a fixed point.

° Watch Video Solution

121. A straight line cuts intercepts from the axes of coordinates the sum
of whose reciprocals is a constant. Show that it always passes though as

fixed point.

° Watch Video Solution

122. Find the position of the points (1,1) and (2, — 1) with respect to

theline3z + 4y — 6 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_RCqQf7OntmrO
https://dl.doubtnut.com/l/_hFw6E1TQhoso
https://dl.doubtnut.com/l/_o2DWwvYg3882

123. The ratio in which the line segment joining P(z1, y;) and Q(z2, y2)

is divided by x-axis is Y1 : yo (b) y1: Y2 (c) 1: x5 (d) z1: X

° Watch Video Solution

124. Find the distance of the point (4, 5) from the straight line

3z —5y+T7=0.

° Watch Video Solution

125. The equation of the base of an equilateral triangle is £ + y = 2 and

its vertex is (2, — 1). Find the length and equations of its sides.

° Watch Video Solution

126. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

| e |


https://dl.doubtnut.com/l/_1GW7yyOMFSVh
https://dl.doubtnut.com/l/_ebWkOj6gzE4H
https://dl.doubtnut.com/l/_FBEK7oN5XjgZ
https://dl.doubtnut.com/l/_58P5Gp4FaftO

l & Watch Video Solution J

127.1f p and q are the lengths of perpendiculars from the origin to the
lines xcosf —ysinf = kcos20 and xsecd+ycosecd =k ,

respectively, prove that p? + 4¢® = k> .

° Watch Video Solution

128. If p is the length of perpendicular from the origin to the line whose

1 1
intercepts on the axes are a and b, then show that — = — + —.
p? a? b2

° Watch Video Solution

129. Line L has intercepts aandb on the coordinate axes. When the axes

are rotated through a given angle keeping the origin fixed, the same line

1 1 1 1

L has intercepts pandg Then a’® + b = p2 + q2 — + 72 =+ ?
1 1 1 1

2 2 2 2

a”+p° =b"+gq (d)—2 —|——2 __b2 —|——q2

| o Watch Video Solution


https://dl.doubtnut.com/l/_58P5Gp4FaftO
https://dl.doubtnut.com/l/_5OryYpUuVbSw
https://dl.doubtnut.com/l/_jNKBUb5VAIQz
https://dl.doubtnut.com/l/_8263kMNnWp5W

130. Prove that the length of perpendiculars from points
P(m2, 2m)Q(mn, m + n)andR(nQ, 2n) to the line

z cos? @ + ysinfcosf + sin?@ = 0 are in G.P.

° Watch Video Solution

131. Find the distaance of the point (1, 2) from the straight line with slope
5 and passing through the point of intersection of

x+2y=>5and z —3y="1.

o Watch Video Solution

132. The vertices of a triangle are A( — 2,1), B(6, — 2) and C(4, 3).

Find the equation of the altitudes of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_8263kMNnWp5W
https://dl.doubtnut.com/l/_t49i55c0l0vN
https://dl.doubtnut.com/l/_PS3nUrJEmVVI
https://dl.doubtnut.com/l/_FH8SRf9Wc9pU
https://dl.doubtnut.com/l/_dvNEVpAIG7C5

133.  Find the distance between the parallel lines

ax +by+c=0and ax +by+d =0

o Watch Video Solution

134. Prove that the line 12z — 5y — 3 is mid parallel to the lines

122 — 5y +7 =0 and 122 — 5y — 13 =0

° Watch Video Solution

135. The equations of two sides of a square are

3z +4y — 5 =0 and 3z + 4y — 15 = 0 and (6, 5) is a point on the third

side. Find the equation of the third side and the remaining side.

o Watch Video Solution

136. The angle between the diagonals of a quadrilateral formed by the

. T Y z Yy x Yy .
mesa—l—b ’b+a ’a+b '

:2and£—|—2
b a


https://dl.doubtnut.com/l/_dvNEVpAIG7C5
https://dl.doubtnut.com/l/_K14xcUrBmwUJ
https://dl.doubtnut.com/l/_Tw20rQhWXdVj
https://dl.doubtnut.com/l/_22csJ8IfCmZD

° Watch Video Solution

137. Find area parallelogram lines

y=mz,y=mz + 1,y = nr and y = nx + 1 equal to:

° Watch Video Solution

1. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

2.Find the slope of the line whose inclination is : 0

° Watch Video Solution



https://dl.doubtnut.com/l/_22csJ8IfCmZD
https://dl.doubtnut.com/l/_B2s0UCHXTkYU
https://dl.doubtnut.com/l/_NW810Ysq3OSq
https://dl.doubtnut.com/l/_3n8bwHMsuryU
https://dl.doubtnut.com/l/_2rp3wwMsCGG4

3. Find the slope of the line whose inclination is : 60°

° Watch Video Solution

4.Find the slope of a line whose inclination is 150°

° Watch Video Solution

5.Find the slope of line whose inclination is 45°

° Watch Video Solution

6. Find the slope of the line through the points: (6, 3) and (9, 3)

° Watch Video Solution

7.Find the slope of the line through the points: (1, 2) and (4, 2)



https://dl.doubtnut.com/l/_2rp3wwMsCGG4
https://dl.doubtnut.com/l/_6Cxo05ySBo7y
https://dl.doubtnut.com/l/_WqO8574egPBn
https://dl.doubtnut.com/l/_XeMz1AXMcnHf
https://dl.doubtnut.com/l/_QiUq7Y3P8oLV

| o Watch Video Solution

8.Find the slope of the line through the points: (0,9) and ( — 3, 0)

° Watch Video Solution

9.Find the slope of the line through the points: (0, — 4) and ( — 6, 2)

° Watch Video Solution

10. Find the slope of the line through the points: (3, — 2) and (3, 4)

° Watch Video Solution

11. Find the slope of the line through the points: (3, — 2) and ( — 1, 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_QiUq7Y3P8oLV
https://dl.doubtnut.com/l/_sND5C2IS32EH
https://dl.doubtnut.com/l/_lfDCr1IyWSNJ
https://dl.doubtnut.com/l/_sIo5Q1uPAuAo
https://dl.doubtnut.com/l/_CxELnphvVEPJ
https://dl.doubtnut.com/l/_CFiX4YHkLw5j

12. Find the slope of the line through the points: (3, — 2) and (7, — 2)

° Watch Video Solution

13. Show that the line joining (5, 6) and (2,3) is parallel to the line through

(9, —2) and (6, — 5).

° Watch Video Solution

14. Show that the line through (2, — 5) and ( — 2, 5) is perpendicular

to the line through (6, 3) and (1, 1)

° Watch Video Solution

15. Examine whether the two lines in each of the parallel, perpendicular or
neither parallel nor perpendicular : through ( —2,6) and (4, 8) ,

through (8,12) and (4, 24".



https://dl.doubtnut.com/l/_CFiX4YHkLw5j
https://dl.doubtnut.com/l/_RlWGQMEtXjwv
https://dl.doubtnut.com/l/_y9O4Qg6RG3Bd
https://dl.doubtnut.com/l/_zsEwosHM5jll

| ¥ vvatcn Viaeo oolution J

16. State whether the tow lines in each of the following are parallel,

perpendicular or nether: through (9,5) and (-1,1); through (3,-5) and (8,-3)

o Watch Video Solution

17. A(5, — 3), B(8,2), C(0, 0) are the vertices of a triangle. Show that

the median from A is perpendicular to the side BC.

o Watch Video Solution

18. What is the value of y so that the line through (3, y)and (2,7) is

parallel to the line through ( — 1, 4)and (0, 6) 7

o Watch Video Solution



https://dl.doubtnut.com/l/_zsEwosHM5jll
https://dl.doubtnut.com/l/_gDxeRGcf9HVl
https://dl.doubtnut.com/l/_jPhs6LTeYZNm
https://dl.doubtnut.com/l/_qxSMdqJeJYPs

19. Line through the points (-2,6) and (4,80 is perpendicular to the line

through the points (8,12) and (z, 24). Find the value of z.

° Watch Video Solution

20. Find the value of z for which the points (z — 1), (2, 1)and (4, 5) are

collinear.

° Watch Video Solution

21. Find the slope of the line, which makes an angle of 300 with the

positive direction of yaxis measured anticlockwise.

° Watch Video Solution

22. Find the slope of the line which passes through the origin and the

mid-point of the line segment joining the points A(0, — 4) and B(8, 0).

| e |


https://dl.doubtnut.com/l/_zY5vDzfs8N0c
https://dl.doubtnut.com/l/_5TIeXwChoRRu
https://dl.doubtnut.com/l/_kYWIhGwLfjii
https://dl.doubtnut.com/l/_ufEpHjcaQduW

| & Watch Video Solution I

23. Find the angle between the X-axis and the line joining the points

(3, —1)and (4, — 2).

o Watch Video Solution

24. A line passes through (z1,y;) and (h, k) .If slope of the line is m,

showthatk — y; = m(h — z1) .

o Watch Video Solution

25. Using slopes, show that thepoints (1, 1), (2, 3) and (3, 5) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_ufEpHjcaQduW
https://dl.doubtnut.com/l/_HlhRZ4vpnnky
https://dl.doubtnut.com/l/_cKkcopA4Mh1s
https://dl.doubtnut.com/l/_bP2FZIQZuClj

26. A(3,4),B( —3,0) and C(7, — 4) are the vertices of a triangle.
Show that the line joining the mid-points

D(z1,y1), E(xs,y2) and F(z,y) are  collinear.  Prove that

(z —z1)(y2 —v1) = (22 — 21)(y — w1)

° Watch Video Solution

27. By using the concept of slope, show that
(-2, —1),(4,0),(3,3) and ( —3,2) are the vertices of a

parallelogram.

° Watch Video Solution

28. A quadrilateral has vertices (4, 1), (1,7),( —6,0) AND ( — 1, — 9).
Show that mid-points of the sides of this quadrilateral form a

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_NVMblSotYDpy
https://dl.doubtnut.com/l/_GwRWYCoosLCV
https://dl.doubtnut.com/l/_7CZ2usbX9g9V

29. Prove that a median of an equilateral triangle is perpendicular to the

corresponding side.

° Watch Video Solution

30. By using the concept of slope, prove that the diagonals of a rhombus

re at right angles.

° Watch Video Solution

31. Find the equation of the line which is parallel to x-axis and at a

distance of 3 units below the x-axis.

° Watch Video Solution

32. Find the equation of the line perpendicular to x-axis and passing

through the origin.

| e |


https://dl.doubtnut.com/l/_x9mBwARtJHZQ
https://dl.doubtnut.com/l/_1oUYsSYpxNCB
https://dl.doubtnut.com/l/_Smuku8qatvC7
https://dl.doubtnut.com/l/_rnt2T6X98xGt

l &J Watch Video Solution J

33.Find the equation of the straight lines which are : parallel to the x-axis

at a distance of 5 units from it

° Watch Video Solution

34.Find the equation of the straight lines which are : parallel to the y-axis

and at a distance of 4 units from it towards negative side of x-axis.

° Watch Video Solution

35. Find the equation of the straight lines which pass through (5, 3) and

are respectively parallel and perpendicular to the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_rnt2T6X98xGt
https://dl.doubtnut.com/l/_ne0BD8vebW0Z
https://dl.doubtnut.com/l/_5mQYtg96RI4z
https://dl.doubtnut.com/l/_4wfwVxnXck7S

36. Find the equation of the line which is parallel to yl-axis and passes

through the point (3, — 4).

° Watch Video Solution

37. Find the equation of the line perpendicular to the x-axis and passing

through the point ( — 1,, —1).

° Watch Video Solution

38. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

° Watch Video Solution

39. Find the equation of the line with slope 3 and y intercept — 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_lWsV2KFs1cuY
https://dl.doubtnut.com/l/_xOZsCWu9EG2u
https://dl.doubtnut.com/l/_ffPrsL17A8OC
https://dl.doubtnut.com/l/_gLTL7ZsjpH8I

40. Find the equation of the line which cuts off an intercept 7 on y-axis

and has the slope 3.

° Watch Video Solution

41. Find the equation of the line which makes an angle of 75" with x-axis

and cuts an intercept of length 3 on the positive direction of y-axis.

° Watch Video Solution

42. Find the equation of the straight lines which cut off an intercept 4

from the y-axis and are equally inclined to the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_gLTL7ZsjpH8I
https://dl.doubtnut.com/l/_DCHZewddeFRG
https://dl.doubtnut.com/l/_foSYLNw8PunE
https://dl.doubtnut.com/l/_ujyROrSAeVTv

43. Find the equation of the straight line which cuts off an intercept-5

12
from the y-axis and makes an angle of sin ™' (ﬁ) with the x-axis.

o Watch Video Solution

44. Find the equation of the line which intercepts a length 2 on the
positive direction of the x-axis and is inclined at an angle of 135° with the

positive direction of y-axis .

o Watch Video Solution

45.Find the equation of a line which cuts off an intercept 4 on the x-axis

and has the slope 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_SjTwyDGNYjfK
https://dl.doubtnut.com/l/_wOhNES00RqTj
https://dl.doubtnut.com/l/_mkhyJyjxBEF3

1
46. Find the equation of the line for which tanf = 2 where 0 is the

inclination of the line and i. x-intercept equal to 4. li. y-intercepts is — 3

° Watch Video Solution

47.The perpendicular from the origin to the line y = mz + ¢ meets it at

the point ( — 1, 2). Find the value of m and c.

° Watch Video Solution

48. The line through the points (h, 3) and (4, 1) intersects the line

7x — 9y — 19 = 0 at right angle. Find the value of A.

° Watch Video Solution

49. Find the values of k for which the line (k— 3)z — (4—k2)

Y+ k*> — 7k + 6 = 0'is (a) Parallel to the xaxis, (b) Parallel to the vaxis, (c)


https://dl.doubtnut.com/l/_JNwXkq2pL0gs
https://dl.doubtnut.com/l/_t0sWbTym27XT
https://dl.doubtnut.com/l/_kuyywFuCVT03
https://dl.doubtnut.com/l/_cQ3dGUliB64b

Passing through the origin.

° Watch Video Solution

50. Find the equation of a line through the origin which makes an angle

of 45° with the positive direction of x-axis.

° Watch Video Solution

51. Find the equation of the line through the point ( — 1, 2) and having

slope 4.

° Watch Video Solution

52. Find the equation of the line throught ( — 2, 3) and having slope —4.

° Watch Video Solution



https://dl.doubtnut.com/l/_cQ3dGUliB64b
https://dl.doubtnut.com/l/_K3gyg2lQ1vQY
https://dl.doubtnut.com/l/_sVGEho3DPpKv
https://dl.doubtnut.com/l/_fuCWj1IZNDNl

53. Find the equation of the line passing through (0,0) with slope m.

° Watch Video Solution

54. Find the equation of the line passing through ( — 4, 3) and having

I —.
slope 2

° Watch Video Solution

55. Find the equation of the line passing through the point (2, 2) and

inclined to x-axis at 45°.

° Watch Video Solution

56. Find the eqution of the line passing through the point ( — 1, — 2)

4
andhaving slope 2

° Watch Video Solution



https://dl.doubtnut.com/l/_dfEnDpf1b5qZ
https://dl.doubtnut.com/l/_RqXXnWaid5gv
https://dl.doubtnut.com/l/_O6ph8SLBuAE1
https://dl.doubtnut.com/l/_T423p1AXctCP

57. Find the equation of the linepassing through the point (\/5, 2\/5)

2
and having slope 3

° Watch Video Solution

58. Find the equation of the line intersecting x-axis at a distance of 3

units to the left of the origin with slope — 2.

° Watch Video Solution

59. Find the eqution of a line which passes through the point ( — 2, 3)

and makes an angle of 60° with thepositive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_T423p1AXctCP
https://dl.doubtnut.com/l/_lk4xX6xV2w5U
https://dl.doubtnut.com/l/_GqV0SIBMCOnz
https://dl.doubtnut.com/l/_FWlvz1bG9AMu

60. Find the equation of the straight line passing through (3,-2) and

making an angle of 60° with the positive direction of y-axis.

° Watch Video Solution

61. Find the eqn of lines which pass through the point (1, 2) and equally

inclined to the co- ordinate axes.

° Watch Video Solution

62. Find the equation of the straight line which passes through the point

(1,2) and makes such an angle with the positive direction of x-axis whose

.3
sineis — .
5

° Watch Video Solution



https://dl.doubtnut.com/l/_pB37UHwRgRsn
https://dl.doubtnut.com/l/_5Pgx66Rl1Xvp
https://dl.doubtnut.com/l/_JQYtA8wUTo3o

63. Find the slope of the line passing through the points (3, 4) and (1, 2).

Also find its equation.

° Watch Video Solution

64. Find the equation of the line passing through ( —3,5) and

perpendicular to the line through the points (2, 5) and ( — 3, 6).

° Watch Video Solution

65. Find the equation of the right bisector of the line segment joining eth

points A(1, 0)and B(2, 3)

° Watch Video Solution

66. Find the equation of the right bisector of the line segment joining the

points (3, 4) and (1, 2).

| e |


https://dl.doubtnut.com/l/_RLQZSush6Rn6
https://dl.doubtnut.com/l/_A4WsinWYnGWY
https://dl.doubtnut.com/l/_B7XCuAbuYQbX
https://dl.doubtnut.com/l/_2lZnWxcFhq1e

I &J Watch Video Solution

67. The perpendicular from the origin to a line meets it at the point (-2, 9)

find the equation of the line.

° Watch Video Solution

68. A line perpendicular to the in segment joining the points (1,0) and

(2,3) divides it in the ratio 1: nn . Find the equation of the line.

° Watch Video Solution

69. Find the equation of the line through the point (0, 2) making an angle

71'
3 with the positive x-axis. Also find the equation of the line parallel to it

and crossing the y-axis at a distance of 2 units below the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_2lZnWxcFhq1e
https://dl.doubtnut.com/l/_hO4rBW4t56gS
https://dl.doubtnut.com/l/_oBDy4LlvJVMk
https://dl.doubtnut.com/l/_42n4FLu54yKu
https://dl.doubtnut.com/l/_Hvus5qZj3y3u

70. Find the -equation of the linepassing through the point

(2,3) and (5, — 2).

° Watch Video Solution

71. Find the equation of the line passing through the following pair of

points (0. — 3) and (5, 0)

° Watch Video Solution

72. Find the equation of the line passing through the pair of points:

(—1,1) and (2, — 4)

° Watch Video Solution

73. Find the equation of the line passing through the pair of points:

(1, — 1) and (3,5)

° Watch Video Solution



https://dl.doubtnut.com/l/_Hvus5qZj3y3u
https://dl.doubtnut.com/l/_8qFqstAz1SvQ
https://dl.doubtnut.com/l/_ebfdXK9W5Qez
https://dl.doubtnut.com/l/_MGEFeMT8Lgtz

74.Find the equation of the straight line whichpasses throought the two

points : (a, b), (a + rcosa, b+ rsina)

° Watch Video Solution

75.Find the equation of the straight line whichpasses throought the two

points : (at?, 2at;), (at3, 2at,)

° Watch Video Solution

76. Find the equation of the sides of the triangle whose vertices are

(2,1),(—2,3) and (4, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_MGEFeMT8Lgtz
https://dl.doubtnut.com/l/_NvQ0RCfu2mYF
https://dl.doubtnut.com/l/_3vM6E2AteUdA
https://dl.doubtnut.com/l/_dXthxFGCjcG2

77.By using the concept of equation of a line, prove that the three points

(3, 0),( 2 2) and (8, 2) are collinear.

° Watch Video Solution

78. The vertices of A PQR are P (2, 1) , @ (2, 3) and

R (4, 5).Find equation of the median through the vertexR.

° Watch Video Solution

79. The Fahrenheit temperature F and absolute temperature K satisfy a

linear equation. Given that K = 273 when ' = 32 and that
K = 373 whenF = 212.Express Kin terms of F and find the
valueof Fwhen Kk = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_z7N0YAau0Pi9
https://dl.doubtnut.com/l/_nPqK7HmOErg5
https://dl.doubtnut.com/l/_QjK7oP6u2wpW

80. Find the equation of the line whose intercepts on = and y axes are

2 and — 3respectively.

° Watch Video Solution

81. Find the equation of the line, which makes intercepts —3, and 2 on

the z and y — axes respectively.

° Watch Video Solution

82. Find the equation of the straight line whichpasses through the point

(2, 3) and cuts off equal intercepts on the axes. (A)

° Watch Video Solution

83. Find the equation of the straight line which cuts off equal and positive

intercepts from the axes andpasses through the point (3, 4).

| e |


https://dl.doubtnut.com/l/_Qt3KFRO0I3KM
https://dl.doubtnut.com/l/_wSKrF67xozgf
https://dl.doubtnut.com/l/_NrrqEErCeduq
https://dl.doubtnut.com/l/_hoDqmiQFETyO

I &J Watch Video Solution

84. Find the equation of the line which cuts off equal and positive

intercepts from the axes and passes through the point (a, )

° Watch Video Solution

85. Find the equation of the straight line which passes through the point

(2, 3) and whose intercept on the x-axis is double that on the y-axis.

° Watch Video Solution

86. Find the equation of the straight line which passes through the point

(2,3) and whose intercept on the y-axis is thrice that on the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_hoDqmiQFETyO
https://dl.doubtnut.com/l/_5nUmt313wYBC
https://dl.doubtnut.com/l/_1TLNz6D7z3YU
https://dl.doubtnut.com/l/_InKacOJmTAU3

87. Find the equation of the straight line passing through the point (3,

-4) and cutting off intercepts, equal but of opposite signs, from the axis.

° Watch Video Solution

88. A straight line passes through the point («, 8) and this point bisects

the portion of the line intercepted between the axes. Show that the

Yy

% = 1.

x
equation of the straight line is — +

° Watch Video Solution

89. Find the equation of the straight lines each of which passes through
the point (3,2) and cuts off intercepts aandb respectively on

xandy — azxes such thata — b = 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_NeFlAxg9z5vX
https://dl.doubtnut.com/l/_Blv94bWEx66N
https://dl.doubtnut.com/l/_fkUoYlZU0QIG

90. Find the equations to the straight lines which pass through the point

( — 2, 3) and cut the axes at A(a, 0) and B(0, b) so thata + b = 2

° Watch Video Solution

91. Find equation of the line passing through the point (2, 2) and cutting

off intercepts on the axes whose sumis 9.

° Watch Video Solution

92. A straight line passes through the point (3, — 2) and this point
bisects theportion of the line intercepted between the axes, find the

equation of the line

° Watch Video Solution



https://dl.doubtnut.com/l/_0swu1vLNrUoU
https://dl.doubtnut.com/l/_gy2CK6D2SuMd
https://dl.doubtnut.com/l/_rtPDj5j5UzAK

93. Point R (h, k) divides a line segment between the axes m the ratio 1: 2.

Find equation of the line.

° Watch Video Solution

94. Find the equation of the line which passes through P(1, — 7) and

meets the axes at AandB respectively so that 4AP — 3BP = 0.

° Watch Video Solution

95. Find the equation of straight line which passes through the point
P(2,6) and cuts the coordinate axis at the point A and B respectively so

that AP:BP=2:3.

° Watch Video Solution



https://dl.doubtnut.com/l/_tKQAq7QStSjY
https://dl.doubtnut.com/l/_sTM9QnsRqcHZ
https://dl.doubtnut.com/l/_hLA6gNMoeBMA

96. For the straight line /3y — 3z = 3, find the intercepts on the x-axis

and y-axis.

° Watch Video Solution

97. Find the equation of the straight line whose intercepts on the axes

are twice the intercepts of the straight line 3z + 4y = 6.

° Watch Video Solution

98. find the equation of the straight line passing through (2,1) and
bisecting the portion of the straight line 3z — 5y = 15 lying between the

axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_NkkdCTZD77GT
https://dl.doubtnut.com/l/_Y7xVvxdIBftV
https://dl.doubtnut.com/l/_htZjAeYi2vbD

99. Find the equations of the straight lines which pass through the origin
and trisect the portion of the straight line 2z + 3y = 6 which is

intercepted between the axes.

° Watch Video Solution

100. Prove that the points whose coordinates are respectively (5,1), (1,-1)

and (11,4) lie on a straight line and find its intercepts on the axes

° Watch Video Solution

101. find the gradient and intercepts on the axes of the straight line

passing through the point (1, — 3) and (4, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_Nw53ids5LIRI
https://dl.doubtnut.com/l/_AiRffDvNCvaC
https://dl.doubtnut.com/l/_KWnLuhAiavja

102. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are given as: p = 3, a = 45°

° Watch Video Solution

103. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are given as: p = 1, a90°

° Watch Video Solution

104. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axisaregivenas:p =1, a = 90°

° Watch Video Solution



https://dl.doubtnut.com/l/_OTIcXwoTMhqX
https://dl.doubtnut.com/l/_lWaUUR0LQgmZ
https://dl.doubtnut.com/l/_FekaeRYsWV4R
https://dl.doubtnut.com/l/_GS8hMU5weopW

105. Find the equation of the line where the perpendicular distance p of
the line from origin and the angle a made by the perpendicular with x-

axis are givenas:p = 4, a = 15°

° Watch Video Solution

106. Find the equation of the line which satisfy the given conditions :
Perpendicular distance from the origin is 5 units and the angle made by

the perpendicular with the positive xaxis is 300 .

° Watch Video Solution

107. the length of the perpendicular from the origin to a line is 7 and a
line makes an angle of 150° with the positive direction of y-axis . then the

equation of the line is:

° Watch Video Solution



https://dl.doubtnut.com/l/_GS8hMU5weopW
https://dl.doubtnut.com/l/_orD5l41T4Urs
https://dl.doubtnut.com/l/_Ad9Ga4kH4Prb

108. Find the equation of the straight line upon which the length of the
perpendicular from the origin is 2 and this perpendicular makes an angle

of 30° with the positive direction of y-axis (in clockwise direction".

° Watch Video Solution

109. Find the equation of the line which is at a distance 5 from the origin
and the perpendicular from the origin to the line makes an angle 60° with

thepositive direction of the x-axis.

° Watch Video Solution

10. Find the equation of the straight line upon which the length of the

perpendicular from the origin is band the slope of this perpendicular is

3

4

° Watch Video Solution



https://dl.doubtnut.com/l/_fDjifwOCRPjC
https://dl.doubtnut.com/l/_JEJxZDzmmUlG
https://dl.doubtnut.com/l/_Ns4D4qotyrDr
https://dl.doubtnut.com/l/_mmKBRngbOjCk

111. A straight road is at a distance of 54/2 km from a place. The shortest
distance of the road from the place is in the N.E. direction. Do the
following villages which (i) is 6 km East and 4km North from the place lie
on the road or no, (ii) is 4km East and 3km North from the place, lie on

the road or not?

o Watch Video Solution

112. Find the co-ordinates of the point at at a distance 6 units from the
point (1, 1) in the direction making an angle of 60° with the positive

direction of the x — axis.

o Watch Video Solution

113. Find the direction in which a straight line must be drawn through the
point (1, 2)so that its point of intersection with the line z + y4may be at

a distance of 3 units from this point.

o Watch Video Solution



https://dl.doubtnut.com/l/_mmKBRngbOjCk
https://dl.doubtnut.com/l/_RyHYjdugJcLb
https://dl.doubtnut.com/l/_3jIUoDO9ZjPS

114. Find the distance of the line 2z + y = 3 from the point ( — 1, 3) in

the direction whose slope is 1.

° Watch Video Solution

115. Find the distance of the line 4y = Ofrom the point P(4, 1) measured

along the line making an angle of 1350owith the positive xaxis.

° Watch Video Solution

116. The straight line through P(z1, y;) inclined at an angle 6 with the x-

axis meets the lineaxz + by + ¢ = 0 € Q- Find the length of PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_3jIUoDO9ZjPS
https://dl.doubtnut.com/l/_MZvhlrecCjoy
https://dl.doubtnut.com/l/_dcwlNEtMMXxC
https://dl.doubtnut.com/l/_GdNPkkanFxSv

117.a line drawn through A(4, — 1) parallel to the line 3z — 4y + 1 = 0.
Find the coordinates of two points on this line which are at a distance of

5 units from A

° Watch Video Solution

118. Find the distance of the point (3,5) from the line 2z + 3y = 14

measured parallel to the line x — 2y = 1.

° Watch Video Solution

119. Find the distance of the line 4z + 7y + 5 = Ofrom the point (1, 2)

along the line2z — y = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_KbvJ4qCC2Qmi
https://dl.doubtnut.com/l/_H9QOgqtlkCh4
https://dl.doubtnut.com/l/_4n0yWVr61cDS

120. The co-ordinates of the extremities of one diagonal of a square are
(1,1) and (1, — 1) Find the co-ordinates of its other vertices and the

equation of the other diagonal

° Watch Video Solution

121. AB is a side of a regular hexagon ABCDEF and is of length a with
A as the origin and AB and AFE as the x-axis andy-axis respectively. Find

the equation of lines AC, AF and BE

° Watch Video Solution

122. Reduce each of the following equations into slope-intercept from

Tr+3y—6=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Ev5pPEfKSq2X
https://dl.doubtnut.com/l/_PSaCHjYX719X
https://dl.doubtnut.com/l/_hcNilRYg4Xkw

123. Reduce each of the following equations into slope-intercept from

6z +3y—5=0

° Watch Video Solution

124. Reduce each of the following equations into slope-intercept from (A)

3X+3Y =5

° Watch Video Solution

125. Reduce each of the following equations into slope-intercept from

2c —4y =5

° Watch Video Solution

126. Reduce each of the following equations into slope-intercept from

y=20

| e |


https://dl.doubtnut.com/l/_RAaeYQUPpPev
https://dl.doubtnut.com/l/_aP2lRuPl6f5w
https://dl.doubtnut.com/l/_3nw9EDdFvv8r
https://dl.doubtnut.com/l/_uTfmFKPtkqzv

| & Watch Video Solution I

127. Reduce the following equations into slope intercept form and find
their slopes and the y intercepts.(i) = + 7y = 0, (ii) 6z + 3yb5 = 0, (iii)

y=0.

° Watch Video Solution

128. Reduce the equations to the intercept form 2z — 3y = 5

° Watch Video Solution

129. Reduce the equations to the intercept form 3z — 4y = 10

° Watch Video Solution

130. Reduce the equations to the intercept form /3y — 3z = 3

s I


https://dl.doubtnut.com/l/_uTfmFKPtkqzv
https://dl.doubtnut.com/l/_DE77F25Lwi3I
https://dl.doubtnut.com/l/_7qtAgVhw6E5B
https://dl.doubtnut.com/l/_v37qvAwKJrTQ
https://dl.doubtnut.com/l/_4Cxi011JTVzx

| ¥ VWvatch Video Solution J

131. Reduce the equations to the intercept form 4z — 3y = 6

° Watch Video Solution

132. Reduce the following equations into intercept form and find their

intercepts on the axes.(i) 3z + 2y12 = 0, (ii) 4z3y = 6, (iii) 3y + 2 = 0.

° Watch Video Solution

133. Reduce the following equations into intercept form and find their

intercepts on the axes.(i) 3z + 2y12 = 0, (ii) 43y = 6, (iii) 3y + 2 = 0.

° Watch Video Solution

134. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line \/3z +y — 8 = 0


https://dl.doubtnut.com/l/_4Cxi011JTVzx
https://dl.doubtnut.com/l/_czTtioAVngoz
https://dl.doubtnut.com/l/_8PE6dPekiACw
https://dl.doubtnut.com/l/_6A92GASkv949
https://dl.doubtnut.com/l/_SXDCwPhwCnKA

° Watch Video Solution

135. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line4x + 3y — 9 =0

° Watch Video Solution

136. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line 3z — 4y + 10 = 0

° Watch Video Solution

137. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to thelinez +y —2 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_SXDCwPhwCnKA
https://dl.doubtnut.com/l/_NxLEJpEpjPkk
https://dl.doubtnut.com/l/_VEUgzULJZDT0
https://dl.doubtnut.com/l/_gE9OnBe0dpUx

138. Reduce the following equations to the normal form and find p and o

ineachcase:y —2 =10

° Watch Video Solution

139. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to thelinez —4 =0

° Watch Video Solution

140. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to thelinexz —y = 4

° Watch Video Solution

141. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the linez — /3y +8 = 0

| e |


https://dl.doubtnut.com/l/_w6JPTuOxbIKJ
https://dl.doubtnut.com/l/_IqgfKxKikBmm
https://dl.doubtnut.com/l/_FCpW6oMCRgyq
https://dl.doubtnut.com/l/_A9ifoAi6PY3I

I &J Watch Video Solution

142. Reduce each of the equations to the normal form and find the length

of the perpendicular from origin to the line \/3z +y +2 =0

° Watch Video Solution

143. Equation of a line is 3x — 4y + 10 = 0. Find its (i) slope, (ii) x and

yintercepts.

° Watch Video Solution

144. For the straight line 8 — 15y 4+ 51 = 0, find the length of the
perpendicular from the origin to this line and the inclination of this

perpendicular with the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_A9ifoAi6PY3I
https://dl.doubtnut.com/l/_bNMtRLacVDDq
https://dl.doubtnut.com/l/_JU0ZfE4hXXrY
https://dl.doubtnut.com/l/_2MPir82LTRZO
https://dl.doubtnut.com/l/_dIJPBzOpxPDJ

145. Find the equation of the line joining the points (1,2) and ( — 3, 1).
Find its inter-cepts on the axes. If p be the length of the perpendicular

from the origin to the line find the value of p.

° Watch Video Solution

146. Find the point of intersection of the lines 2z — 3y + 8 = 0 and

dr + 5y = 6

° Watch Video Solution

147. Find the points of intersection of the following pair of lines:

2c+3y—6=0,3x —2y—6=0

° Watch Video Solution

148. Find the points of intersection of the following pair of lines:

xr=0,2x—y+3=0



https://dl.doubtnut.com/l/_dIJPBzOpxPDJ
https://dl.doubtnut.com/l/_SasKZNjc6Lnf
https://dl.doubtnut.com/l/_SEs6zpCIWIMI
https://dl.doubtnut.com/l/_FQ9uO6d35Nyf

| ° Watch Video Solution

149. For what value of m the line ma + 2y + 5 = 0 will pass through the

point of intersection of the lines x — 4y = 3 and z + 2y = 0?

° Watch Video Solution

150. Find the point of intersection of lines : yt; = = 4+ at? and

yty = « + at}

° Watch Video Solution

151. If the straight line % + % = 1 passes through the line point of

intersection of the lines z + y = 3and2x — 3y = 1 and is parallel to

x —y—6=0,find aandb.

° Watch Video Solution



https://dl.doubtnut.com/l/_FQ9uO6d35Nyf
https://dl.doubtnut.com/l/_nUBDqvcy4LGx
https://dl.doubtnut.com/l/_PdpOpwYbv9aA
https://dl.doubtnut.com/l/_HaqYp01yrAix
https://dl.doubtnut.com/l/_jMo5zGvQdiXp

152. Find the vertices and the area of the triangle whose sides are

xr=19y,y=2r and y = 3z + 4.

° Watch Video Solution

153. The sides of a triangle are given by
xr—2y+9=0,3z +y—22=0and z +5y+2=0. Find the

vertices of the triangle.

° Watch Video Solution

154. Find the vertices of the triangle whose sides are

y+2r=3,4y+x=5and by+ 3z =0

° Watch Video Solution

155. Find the area of the triangle formed by the lines

y—z=0,z+y=0andz — k=0.


https://dl.doubtnut.com/l/_jMo5zGvQdiXp
https://dl.doubtnut.com/l/_tkPn5xuWXIjA
https://dl.doubtnut.com/l/_ZCJG8uzUCwVh
https://dl.doubtnut.com/l/_cKVVOQrPxmHz

° Watch Video Solution

156. If m; and my are the roots of the equation

2’ + (v/3 +2)z + /3 — 1 = 0, then the area of the A formed by lines

—m—'—\/ﬁ)gb(—m—'—\/ﬁ)cc

Y= MmT, Yy = Myx, Yy = CIS: a.( 1 16

(\/ﬁ+x/ﬁ>c2d<x/ﬁ+\/ﬁ) ;
—4 | —— |C

4

° Watch Video Solution

157. Three sides AB, ACandCA of triangle ABC are
52 —3y+2=0,z —3y — 2 =0andx +y — 6 =0 respectively. Find

the equation of the altitude through the vertex A.

° Watch Video Solution

158. Find the equation of line parallel to the y-axis and drawn through the

point of intersectionof z 7y + 5 = Oand 3z +y7 = 0.


https://dl.doubtnut.com/l/_cKVVOQrPxmHz
https://dl.doubtnut.com/l/_5JHy2U4BBu3F
https://dl.doubtnut.com/l/_HqaKTTpnnkMF
https://dl.doubtnut.com/l/_TnFyeAvG15ym

° Watch Video Solution

159. Find the equation of the line parallel to y-axis and drawn through the

point of intersection of the linesz — 7y + 5 = 0and 3z + y = 0.

° Watch Video Solution

160. Find the coordinates of the foot of perpendicular from a point

(—1,3)totheline3z —4y — 16 =0

° Watch Video Solution

161. Two lines cut on the axis of x intercepts 4 and — 4 and on the axis
of y intercepts 2 and 6 respectively. Find the coordinates of their point of

intersection.

° Watch Video Solution



https://dl.doubtnut.com/l/_TnFyeAvG15ym
https://dl.doubtnut.com/l/_WuDcYIhoUO0M
https://dl.doubtnut.com/l/_NW3AA1sa720u
https://dl.doubtnut.com/l/_xreubGdOMJTy
https://dl.doubtnut.com/l/_9RMSmMnveL6s

162. Find the coordinates of the orthocentre of a triangle whose vertices
are (—1,3)(2, —1) and (0,0). [Orthocentre is the point of

concurrency of three altitudes].

° Watch Video Solution

163. Find the coordinates of the incentre and centroid of the triangle
whose sides have the equations

3r — 4y = 0, 12y + 5x = Oadny — 15 = 0.

° Watch Video Solution

164. Find the coordinats of the incentre of the triangle whose sides are

x = 3,y =4 and 4x + 3y = 12. Also find the centroid.

° Watch Video Solution



https://dl.doubtnut.com/l/_9RMSmMnveL6s
https://dl.doubtnut.com/l/_IVEvU56yMLbC
https://dl.doubtnut.com/l/_NWBmg4WvXCpW

165. Find the circumcentre of the triangle whose sides are

3r —y+3=0,3xr+4y+3=0and z+ 3y + 11 = 0.

° Watch Video Solution

166. Find the circumcentre of the triangle whose vertices are

(-2, —3),(—-1,0), (7, —6).

° Watch Video Solution

167. Find the orthocentre of the triangle whose vertices are (0O, 0), (6, 1)

and (2, 3).

° Watch Video Solution

168. Two vertices of a triangle are (4, — 3)&( — 2, 5). If the orthocentre

of the triangle is at (1, 2), find coordinates of the third vertex .

| e |


https://dl.doubtnut.com/l/_UIGVUYfmsm3k
https://dl.doubtnut.com/l/_v43jNiPYHZ08
https://dl.doubtnut.com/l/_DNek4AlbvHVv
https://dl.doubtnut.com/l/_Qf5eZZuMF10n

I & Watch Video Solution

169. Find the orthocentre of the triangle the equations of whose sides are

r+y=12x + 3y = 6anddx —y+ 4 = 0.

° Watch Video Solution

170. Find if the following lines are

S5t —3y—4=0,z —5y+7=0,6x — 17y +24 =0

concurrent.

° Watch Video Solution

171. Examine whether the following three lines are concurrent or not. If

yes, find the point of

2r+3y—4=0,z —5y+7=0,6c — 17Ty +24 =0

concurrenty

° Watch Video Solution



https://dl.doubtnut.com/l/_Qf5eZZuMF10n
https://dl.doubtnut.com/l/_B4I7sVyymFii
https://dl.doubtnut.com/l/_v8gxGFmRwkxW
https://dl.doubtnut.com/l/_Gh8gi8jVHg3M
https://dl.doubtnut.com/l/_sEwJFjgRt68t

172. Find the value of m so that the straight lines

y=xz+1,y=2(x + 1) and y = ma + 3 are concurrent.

° Watch Video Solution

173. Find the value of m o) that the lines
3r+y+2=02xr—y+3=0and z+my—3=0 may be

concurrent.

° Watch Video Solution

174. Find the value of m for which the lines
mz 4+ (2m + 3)y + m + 6 = Oandmz + (2m + 1)z + (m —6)y+9 =10

intersect at a; point on y — a&s-

° Watch Video Solution



https://dl.doubtnut.com/l/_sEwJFjgRt68t
https://dl.doubtnut.com/l/_DqaebiO32KFr
https://dl.doubtnut.com/l/_RsHdFOIC3iLK

175. Find the value of m o) that lines

y=a+1,2x +y =16 and y = mz — 4 may be concurrent.

° Watch Video Solution

176. If the lines 2a + y3 = 0, bz + ky3 = Oand 3zy2 = Oare concurrent,

find the value of k.

° Watch Video Solution

177. If the three lines
ar +a’y+1=0, bz +by=1=0andcz +y+1=0 are

concurrent, show that at least two of three constants a, b, c are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_QFBaMa7xtmIo
https://dl.doubtnut.com/l/_eiu47EcPIxSC
https://dl.doubtnut.com/l/_4IXP2AwtdgEx

178. Show that the straight lines
Li=(b+czr+ay+1=0, Ly=(ct+a)z+by+1=0nd L3 =(a+b

are concurrent.

° Watch Video Solution

179. Given a tringle with vertices A( — 2,3), B( —4,1) and C(2,5).

Find the equations of the medians and show that they meet in one point.

° Watch Video Solution

180. The coordinates of points A, B and C are (1,2), ( — 2,1) and (0, 6).

Verify if the medians of the triangle ABC are concurrent..

° Watch Video Solution



https://dl.doubtnut.com/l/_NTITkGL2tive
https://dl.doubtnut.com/l/_mOmzXtbbQUas
https://dl.doubtnut.com/l/_40MNGXdrSXHe

181. Show that the perpendicular bisectors of the sides of the triangle
with vertices (7, 2), (5, —2) and ( — 1, 0) are concurrent. Also find the

coordinates of the point of concurrence (circumcentre).

° Watch Video Solution

182. Show that the perpendicular bisectors of the sides of a triangle are

concurrent.

° Watch Video Solution

183. Altitudes the perpendiculars drawn from the vertices of a triangle to

the opposite side are known as the altitudes of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_HT82LnprjKZb
https://dl.doubtnut.com/l/_YGbi31fASrZ4
https://dl.doubtnut.com/l/_TnRtZbGxPgQS

184. Find the angle between the lines

x+3y—8=0and 2z —3y+6 =0.

o Watch Video Solution

185. Find the obtuse angle between the straight lines

9r + 3y —4 =0 and 2 +4y+ 5= 0.

o Watch Video Solution

186. Find the angle between the lines z = a and by + ¢ = 0.

o Watch Video Solution

187. Find the angle between the lines 3z = 5 and 3z + 5y — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_UWt2EUp1iA99
https://dl.doubtnut.com/l/_F1iaPXiBKLRF
https://dl.doubtnut.com/l/_qDqt8eAVowsB
https://dl.doubtnut.com/l/_emRVx073BDrn
https://dl.doubtnut.com/l/_oONFLm4qjWQJ

188. Find angles between the lines \/3z + y = land z + /3y = 1.

° Watch Video Solution

189. Find the tangent of the angle between the lines which have

intercepts 3,4,and 1,8 on the z and y axes respectively.

° Watch Video Solution

190. Find the tangent of the angle between the lines whose intercepts on

the axes are respectively,p, — ¢ and q, — p.

° Watch Video Solution

191. Find the angle between the line joining the points (2, 0), (0, 3) and the

linez +y =1

° Watch Video Solution



https://dl.doubtnut.com/l/_oONFLm4qjWQJ
https://dl.doubtnut.com/l/_pYTYLVjmVFF3
https://dl.doubtnut.com/l/_g6Yi0axyuNZj
https://dl.doubtnut.com/l/_dZmciE7ayMDz

192. The line through (4, 3) and ( — 6, 0) intersects the line 5z + y = 0.

Find the angles of intersection.

° Watch Video Solution

Z

b

= 1 are perpendicular

193. Prove that the line z + Y =1 and ¥
a b a

to each other.

° Watch Video Solution

194. Show that the line joining (2, — 3) and ( — 1, 2) is perpendicular

to the line joining (3, 7) and ( — 2, 4).

° Watch Video Solution

195. A line passing through the points (a,2a) and ( —2,3) is

perpendicular to the line 4z 4+ 3y + 5 = 0, find the value of a.


https://dl.doubtnut.com/l/_dZmciE7ayMDz
https://dl.doubtnut.com/l/_gqh8bzDlZlYj
https://dl.doubtnut.com/l/_VWxcqT7Mt9IU
https://dl.doubtnut.com/l/_nnMj0fD83kLv
https://dl.doubtnut.com/l/_62LQIaSdnKVE

° Watch Video Solution

196. If the vertices of a triangle have rational coordinates, then prove that

the triangle cannot be equilateral.

° Watch Video Solution

197. Prove that the line k*z 4 ky + 1 = 0 is perpendicular to the line

x — ky = 1for all real values of k( # 0).

° Watch Video Solution

198. For what value of k is the line z — y + 2 + k(2z + 3y) = 0 parallel

to the line 3z + y = 0?

° Watch Video Solution



https://dl.doubtnut.com/l/_62LQIaSdnKVE
https://dl.doubtnut.com/l/_EfPv4uibn166
https://dl.doubtnut.com/l/_3jZHe2C8JztR
https://dl.doubtnut.com/l/_W8QaGRaXlRkt

199. Prove that the lines
2r —3y+1=0zz+y=3,2r —3y=2and c =4—y form a

parallelogram.

° Watch Video Solution

200. If £ cos @ + ysinf = 2 is perpendicular to the line x-y =3 then what

is one of the value of 67

° Watch Video Solution

201. If the line z — 3y + 5 + k(xz + y — 3) = 0, is perpendicular to the

linex +y = 1,and k.

° Watch Video Solution



https://dl.doubtnut.com/l/_OmJZy4XFO0uZ
https://dl.doubtnut.com/l/_OlDltKTBhKxV
https://dl.doubtnut.com/l/_1QHo9RAZTh0K

202. The line through the points (h, 3) and (4, 1) intersects the line

7x — 9y — 19 = 0 at right angle. Find the value of A.

° Watch Video Solution

203. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: z —2y+3 =0 and 2x —4y+5=0

° Watch Video Solution

204. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: 2z + 3y + 5 =0 and 4 + 6y + 10 =0

° Watch Video Solution

205. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident:z —y+1=0and z+y+2 =0

| e |


https://dl.doubtnut.com/l/_nRUfhWQhyiO1
https://dl.doubtnut.com/l/_FB4IexHTW2hj
https://dl.doubtnut.com/l/_X9HJEtiytGeL
https://dl.doubtnut.com/l/_BRWHlK4kqEKZ

I & Watch Video Solution

206. Examine which of the pair of lines are intersecting, parallel,

perpendicular or coincident: z —y+2 =0 and 2z —3y+5=10

° Watch Video Solution

207. Two lines passing through the point (2, 3) make an angle of 45° I

the slopeof one of the lines is 2, find the slope of the other

° Watch Video Solution

208. Two lines passing through the point (2,3) intersect each other at an

angle 60° . If slope of one lineis 2, find the equation of the other line.

° Watch Video Solution



https://dl.doubtnut.com/l/_BRWHlK4kqEKZ
https://dl.doubtnut.com/l/_CCKsuuaCgd1r
https://dl.doubtnut.com/l/_M6vjoJiBGA5D
https://dl.doubtnut.com/l/_UOh4YtQnnziJ

209. Find the slope of the lines which makee an angle of 45° with the line

x—2y=3

° Watch Video Solution

210. Find the equation of the straight lines passing through (2, — 1) and

making an angle of 45° with the line 6z + 5y = 8.

° Watch Video Solution

211. Find the equation of the legs of a right isosceles triangle if the
equation of its hypotenuse is £ — 2y — 3 = 0 and the vertex of the right

angle is at the point (1, 6),

° Watch Video Solution



https://dl.doubtnut.com/l/_rSgVPiT8Dj5a
https://dl.doubtnut.com/l/_RAO9zr11c6IX
https://dl.doubtnut.com/l/_6s2dBDNoV7zv

212. The hypotenuse of a right angled triangle has its ends at the points
(1, 3)and ( 4, 1).Find the equation of the legs (perpendicular

sides) of the triangle.

° Watch Video Solution

213. Find the equation of the straight liens passing through the origin

making an angle 45° with straight line Viz +y=11

° Watch Video Solution

214. Find the equation of the two straight lines through (1, 2) forming

the two sides of a square of which 4z + 7y = 12 is one diagonal

° Watch Video Solution



https://dl.doubtnut.com/l/_mrxDnnZpZFBK
https://dl.doubtnut.com/l/_S0EAV50HoJ8C
https://dl.doubtnut.com/l/_x0wQBKJIVZ5W

215. A line through the point P(1,2) makes an angle of 60° with the
positive direction of x-axis and is rotated about P in the clockwise
direction through an angle 15°. Find the equation of the straight line in

the new position.

° Watch Video Solution

216. Find the equation of the straight lines passing through the origin

making an angle a with the straight liney = mz + c.

° Watch Video Solution

217. Aline z — y + 1 = 0 cuts the y-axis at A. This line is rotated about
A in the clockwise direction through 75°. Find the equation of the line
in the new position (A) \/ﬂ—i—m = \/§(B)\/5+y: \/§(C)m—|—\/g7: 1

(D) yZ +y=1

° Watch Video Solution



https://dl.doubtnut.com/l/_HlESucksjTiW
https://dl.doubtnut.com/l/_IveFhHH0FuIU
https://dl.doubtnut.com/l/_Rlj3m46JHtkj

218. The slope of a line is double of the slope of another line. If tangent of

1
the angle between them is 3 find the slopes of the lines.

° Watch Video Solution

219. Find the equations of the lines which pass through the point (4, 5)

and make equal angles with the lines 5x — 12y +- 6 = 0and 3z =4y + 7

° Watch Video Solution

220. If the linesy = 3z 4+ land2y = =z + 3 are

equallyinclined to theliney = ma + 4,find the value of m.

° Watch Video Solution

221. A ray of light passing through the point P(1,2) reflects on the x-axis at

the point A and the reflected ray passes through the point Q(5,3).Find the


https://dl.doubtnut.com/l/_pG8Ah8e3vbqw
https://dl.doubtnut.com/l/_mJKjyyziumYq
https://dl.doubtnut.com/l/_oT7lTeGProTc
https://dl.doubtnut.com/l/_JatpPeEk6SHr

coordinates of the point A.

° Watch Video Solution

222, Let (2,1),(—3, —2) and (a,b) form a triangle. Show that the
collection of the points (a,b) form a line for which the triangle is

isosceles. Find the equation of that line.

° Watch Video Solution

223. Find the equation of the straight line parallel to  + 2y = 3 and

passing through the point (3, 4).

° Watch Video Solution

224. Find the equation of the line through ( — 2, 3) parallel to the line

3r —4y+2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_JatpPeEk6SHr
https://dl.doubtnut.com/l/_hprRJNzMlJg2
https://dl.doubtnut.com/l/_EWxDRAe6LZrZ
https://dl.doubtnut.com/l/_bVczkxepnP7X

225. Find the equation of the line through ( — 2, — 1) and parallel to

linex = 0.

° Watch Video Solution

226. Find the equation to the straight line parallel to 3z — 4y +6 =0
and passing through the middle point of the joint of points (2,3), and

(4,1).

° Watch Video Solution

227. Find the equation to the straight line passing through the point

(2, 1) and parallel to the line joining to point (2,3) and (3, — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_bVczkxepnP7X
https://dl.doubtnut.com/l/_iw7dHDCO7M4S
https://dl.doubtnut.com/l/_u47yjKdfZWcd
https://dl.doubtnut.com/l/_Bhv1BDT58JCh

228. Find the equation of the straight line which passes through the

point (a, B) and is parallel to the linelz + my +n =0

° Watch Video Solution

229. Find the equaiton of the line that has y-intercept 4 and is parallel to

theline2x — 3y =T7.

° Watch Video Solution

230. Prove that the line through the point 21, y;) and parallel to the line

Az + By+C =0is A(z —z,) + By —y;) = 0.

° Watch Video Solution

231. Find the equation of a straight line parallel to 2z + 3 + 11 = 0 and

which is such that the sum of its intercepts on the axes is 15.

| e |


https://dl.doubtnut.com/l/_drZwcjb4m6fi
https://dl.doubtnut.com/l/_0PyCF8kFGqAD
https://dl.doubtnut.com/l/_iticQSEV4ba0
https://dl.doubtnut.com/l/_35Vp27IpQqH2

I & Watch Video Solution

232. Find the equation of the line through point ( — 2, — 1) and

perpendicular to the liney = =.

° Watch Video Solution

233. Find the equation of the straight line passing through the point

(2, 5) and perpendicular to the line 2z + 5y = 31.

° Watch Video Solution

234. Find the equation of a line perpendicular to the linex — 2y +3 =0

and passing through the point (1, — 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_35Vp27IpQqH2
https://dl.doubtnut.com/l/_ROe8EihXuyp7
https://dl.doubtnut.com/l/_y1pEraaGZ9Ri
https://dl.doubtnut.com/l/_sMoNu6vxUL1B

235. Find equation of the line perpendicular to the Iline

x 7y + 5 = 0andhaving x intercept 3.

° Watch Video Solution

236. Find the equation of a line drawn perpendicular to the line

% + % = 1 through the point where it meets the y axis.

° Watch Video Solution

237. Find the equation of the straightline perpendicular to the line

Tx + 2y + 7 = 0 and passing through the origin.

° Watch Video Solution

238. Find the equation of the straight line through the point (o, 5) and

perpendiculasr to the line lx + my + n = 0.

| e |


https://dl.doubtnut.com/l/_uPcwhMsz7x46
https://dl.doubtnut.com/l/_xv3TpFmergII
https://dl.doubtnut.com/l/_m6e6bOkKfrRu
https://dl.doubtnut.com/l/_9Q6J0WjaBMIs

I & Watch Video Solution

239. Find the equation of the straight line through (acos#@, bsinf)

y p—
acos @ bsin @

perpendicular to the line

° Watch Video Solution

240. Find the equation to the line through the point ( — 4, — 3) and

perpendicular to the line joining the points (1, 3) and 2, 7).

° Watch Video Solution

241. Find the equation of the perpendicular bisector of the line segment

joining the origin and the point (4, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_9Q6J0WjaBMIs
https://dl.doubtnut.com/l/_V1M6UXSjnfmU
https://dl.doubtnut.com/l/_p6nZQL6QlI9S
https://dl.doubtnut.com/l/_r2JZDCjkYI1B

242.The line y = 0 divides the line joining the points (3, -5) and (-4, 7) in

the ratio :

° Watch Video Solution

243. Find the equation of the straight line perpendicular to 2z — 3y = 5

and cutting off an intercept 1 on the positives direction of the x-axis.

° Watch Video Solution

244.Find the equation of the straight line through (1, y;) perpendicular

to the line joining (z2, ¥2) and (z3, y3).

° Watch Video Solution

245. Find the equation of the line that has y-intercept —3 and is

perpendicular to the line 3z + 5y = 4.

| e |


https://dl.doubtnut.com/l/_dUaaS6ea39li
https://dl.doubtnut.com/l/_imAi8gB7TlUg
https://dl.doubtnut.com/l/_pBiolIuKYNvf
https://dl.doubtnut.com/l/_2T5s0brPwKgP

I & Watch Video Solution

246. Find the equation of a straight line drawn perpendicular to the line

% + J_ 1 through the point where it meets the y-axis.

b

° Watch Video Solution

247.Find the coordinates of the foot of the perpendicular drawn from the

point (1, — 2) on theliney = 2z + 1.

° Watch Video Solution

248.Find the coordinates of the foot of the perpendicular from the point

(— 1, 3) totheline 3z — 4y — 16 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_2T5s0brPwKgP
https://dl.doubtnut.com/l/_EY14L9fQgMhv
https://dl.doubtnut.com/l/_aXO470LhhM9l
https://dl.doubtnut.com/l/_LI8pDx5ld435

249. Find the projection of the point (1, 0) on the line joining the points

P(-1,2) and Q (5, 4).

° Watch Video Solution

250. Find the image of the point (1, — 2) with respect to the line mirror

2r —y+1=0

° Watch Video Solution

251. Assuming that straight lines work as the plane mirror for a point, find

the image of the point (1, 2) in the line 3y + 4 = 0.

° Watch Video Solution

252. Find the image of the point (3, 8)with respect to the line z + 3y = 7

assuming the line to be a plane mirror.

| e |


https://dl.doubtnut.com/l/_Leko3eRvywV9
https://dl.doubtnut.com/l/_bMZG39v1GUOq
https://dl.doubtnut.com/l/_S9ORkxJsDywL
https://dl.doubtnut.com/l/_fB5B2YtGM3Yx

I & Watch Video Solution

253. If the image of the point (2, 1) with respect to a line mirror be

(5,2), find the equation of the mirror.

° Watch Video Solution

254. If (h,r) is the foot of the perpendicular from (zq,y;) to
1—h ymi—r  lzi+my +n

I’ m 2+ m2

lr + my + n = 0, prove that : :1:

° Watch Video Solution

255. Find the equation of the straight line passing through the point
(2, —6) and the point of intersection of the lines

52 —2y+14 =0 and 2y = 8 — Tx.

° Watch Video Solution



https://dl.doubtnut.com/l/_fB5B2YtGM3Yx
https://dl.doubtnut.com/l/_CMvVJexNc7IR
https://dl.doubtnut.com/l/_J3rhFmAQK9yp
https://dl.doubtnut.com/l/_4jxakxYGqmH9
https://dl.doubtnut.com/l/_s3qLHwocyNrU

256. Find the equation of the straight line whichpasses through the point
(1,1) and the point of intersection of the lines

3r+2y=0and z —2y=20

° Watch Video Solution

257. Find the equation of the line through the point of intersection of

z + 2y =5 and = — 3y = 7 and passing through the point (0, — 1)

° Watch Video Solution

258. Find the equation of the line through the intersection of
5z — 3y =1 and 2x + 3y — 23 = 0, and perpendicular to the line

whose equationis: z = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_s3qLHwocyNrU
https://dl.doubtnut.com/l/_QLRbdcU3McmZ
https://dl.doubtnut.com/l/_ffZaOOqYRui4

259. Find the equation of the line through the intersection of
5c —3y =1 and 2z + 3y — 23 = 0, and perpendicular to the line

whose equationis: y = 0

° Watch Video Solution

260. Find the equation of the line through the intersection of

523y =\ land2z +\ 3y\ 23\ =\ 0and perpendicular to the line

5z\ 3y\ 1\ =\ 0.

° Watch Video Solution

261. Find the equation of the line through the intersection of lines
x+ 2y3 = 0and 4daxy+ 7 =0 and which is parallel to

5r + 4420 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_VPOhpn249J6b
https://dl.doubtnut.com/l/_VBIYJoEHB0ft
https://dl.doubtnut.com/l/_wpnlBwEiuEaE
https://dl.doubtnut.com/l/_VmIJurHFasdU

262. Find the equation of line parallel to the y-axis and drawn through the

point of intersectionof z 7y + 5 = 0and 3z +y7 = 0.

° Watch Video Solution

263. Find the equation to the straight line which passes through the
point of intersection of the straight lines x + 2y = 5 and 3z + 7y = 17

and is perpendicular to the straight line 3z + 4y = 10

° Watch Video Solution

264. Find the equation to the straight line drawn through the point of
intersection of z + 2y + 3 = 0 and 3x + 4y + 7 = 0 and perpendicular

toy—z =8.

° Watch Video Solution



https://dl.doubtnut.com/l/_VmIJurHFasdU
https://dl.doubtnut.com/l/_Q44QSdqxhzkH
https://dl.doubtnut.com/l/_bw5wFGeKsokO

265. A person standing at the junction (crossing) of two straight paths
represented by the equations 2 —3y+4 =0 and 3z +4y—5=0
wants to reach the path whose equation is 6z — 7y 4+ 8 = 0 in the least

time. Find equation of the path that he should follow.

° Watch Video Solution

266. Find the equation of the straight line passing through the point of
intersection of 2z +3y+ 1= 0and3x —5y—5=0 and equally

inclined to the axes.

° Watch Video Solution

267. Find the equation of the straight line which passes through the
point of intersection of the lines 3z — y = 5 and = + 3y = 1 and makes

equal and positive intercepts on the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_1YlgIlGvKKGZ
https://dl.doubtnut.com/l/_jb2w1CtFrI2f
https://dl.doubtnut.com/l/_k3cZrBGwvCYN

268. The sides AB and AD of a parallelogram ABCD are
2¢ —y+1=0 and « + 3y — 10 = 0 respectively and C is the point

( — 1, — 2).Find the equation of the diagonals AC and BD.

° Watch Video Solution

269. Find the equation of the line through the intersection of lines

3z + 4y = 7and x — y + 2 = 0 and whose slope is 5.

° Watch Video Solution

270. Find the equation of the line through the intersection of the lines
2¢ +\ 3y\ 4\ =\ Oandz\ 5y =\ 7thathas its x-intercept equal

to\ 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_n1fNFLgzJwfQ
https://dl.doubtnut.com/l/_1mygrctY5ens
https://dl.doubtnut.com/l/_ZHfMmVUkqlyW

271.Find the equation of the line passing through the intersection of the
lines 4z + Ty — 3 = 0 and 2x — 3y + 1 = 0 that has equal intercepts

on the axes.

° Watch Video Solution

272. Prove that the family of lines represented by
z(14+ ) +y(2 —~) + 5= 0~ being arbitrary, passes through a fixed

point. Also find the fixed point.

° Watch Video Solution

273. Prove that the line z(a + 2b) 4+ y(a — 3b) = a — b passes through a

fixed point for different values of a and b. Also find the fixed point.

° Watch Video Solution



https://dl.doubtnut.com/l/_QzqH9B4zNHmx
https://dl.doubtnut.com/l/_ZPfLMxaSPLXQ
https://dl.doubtnut.com/l/_LhkZ1hippPUn

274. Prove that the equation represent a family of lines which pass

through a fixed point. Also find the fixed point : (i)

(v—Dz+yy=1-3y

° Watch Video Solution

275. Prove that the equation represent a family of lines which pass

through a fixed point. Also find the fixed point : (i) vz + y = 4

° Watch Video Solution

276. prove that all lines represented by the equation
(2cos 8 + 3sinf)z + (3cos @ — 5sinf)y — (5cos @ — 2sinf) = 0 pass
through a fixed point for all values of 8. Find the coordinates of that

point.

° Watch Video Solution



https://dl.doubtnut.com/l/_bK8yUGlRDczs
https://dl.doubtnut.com/l/_fPtcOSQvsXe3
https://dl.doubtnut.com/l/_Z1t1WChJkeKj
https://dl.doubtnut.com/l/_DG04FeyWLcHY

277. Examine whether the points (3, — 4) and (2, 6) are on the same or

opposite sides of the line 3z — 4y = 9?

° Watch Video Solution

278. Prove that the point (2, — 1) and (1, 1) are on the opposite sides of

the straight line 3z 4+ 4y — 6 = 0.

° Watch Video Solution

279. Find the position of the points (3,4) and ( — 1, 1) with respect to

theline6z +y —1 = 0.

° Watch Video Solution

280. Prove that the points of intersection of the line x — y = 2 with the
parallel lines 2x + y = 7 and 2z + y = 16 are on the opposite sides of

thelinexz +y = 5.


https://dl.doubtnut.com/l/_DG04FeyWLcHY
https://dl.doubtnut.com/l/_wY2sWEbs41tQ
https://dl.doubtnut.com/l/_tpqqPuCrOOek
https://dl.doubtnut.com/l/_WDKsRblmz9J9

° Watch Video Solution

281. Which one of the points (1,1), ( — 1,2) and (2, 3) lies on the side

of the line 4z + 3y — 5 = 0 on which the origin lies?

° Watch Video Solution

282. Find the length of the perpendicular from the point ( — 3,4) to

theline3z + 4y —5=0

° Watch Video Solution

283. Find the distance of the point (3, 5) from the line

3z 4y 26 =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_WDKsRblmz9J9
https://dl.doubtnut.com/l/_jdBGV7uk2zBp
https://dl.doubtnut.com/l/_paczC5AowY50
https://dl.doubtnut.com/l/_roSQ830z7Cen

284. Find the distance of the point P from the line [ in that :

[:12e —7=0= (3, — 1)

° Watch Video Solution

285. Find the distance of the point P from the line [ in that :

[:12(x + 6) = 5(y — 2) and P-=(-3,-4)'

° Watch Video Solution

286. Find the distance of the point P from the line [ in that :

Y

T
Z.E—Z—landP:(b,a)

° Watch Video Solution

287. Find the distance of the point P from the line [ in that :

[:12(x +6) =5(y—2) and P=(—1,1)

| e


https://dl.doubtnut.com/l/_IGQO67uMaqHa
https://dl.doubtnut.com/l/_BXqIWQ2W4u3E
https://dl.doubtnut.com/l/_guawzsHNgQF9
https://dl.doubtnut.com/l/_zE8fzyS7JAOs

I & Watch Video Solution

288. Find the distance of the point of intersection of the lines

2¢ + 3y = 21 and 3z — 4y + 11 = O from theline8z + 6y +5 =10

° Watch Video Solution

289. In the triangle ABC with vertices A (2, 3), B (4, 1) and C (1, 2), find the

equation and length of altitude from the vertex A.

° Watch Video Solution

290. What are the points on x-axis whose perpendicular distance from the

linedx + 3y = 12is 4 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zE8fzyS7JAOs
https://dl.doubtnut.com/l/_kkzqrObvkdzS
https://dl.doubtnut.com/l/_K7sceun2W3nR
https://dl.doubtnut.com/l/_L1AA0hVddTNl

291. What are the points on the yaxis whose distance from the line

Y

£+— = 1is 4 units
3 4 )

° Watch Video Solution

292. Find the points on y — afs whose perpendicular distance from the

linedr — 3y — 12 =0is 3.

° Watch Video Solution

293. Find the length of the perpendicular fdrawn from the origin upon

the line joining the points (a, b) and (b, a)?

° Watch Video Solution

294. Find the length of the perpendicular from the point 4, — 7) to the

line joining the origin and the point of intersection of the lines


https://dl.doubtnut.com/l/_3haLm7i5f06K
https://dl.doubtnut.com/l/_SOcyRfLikTh7
https://dl.doubtnut.com/l/_qt76IWIoIVUH
https://dl.doubtnut.com/l/_Zj6LaWouCQ0W

2¢ —3y+14 =0 and bz +4y — 7= 0.

° Watch Video Solution

295. Find the equation of two straight lines which are parallel to

z + Ty + 2 = 0 and at unit distance from the point (1, — 1).

° Watch Video Solution

296. Find the equations of lines parallel to 3z — 4y — 5 = 0 at a unit

distance from it.

° Watch Video Solution

297. The equations of two lines through (0,a), which are at distance 'a'

units from the point (23, 2a) are

° Watch Video Solution



https://dl.doubtnut.com/l/_Zj6LaWouCQ0W
https://dl.doubtnut.com/l/_TdSeObZh7ZUl
https://dl.doubtnut.com/l/_zlOsnb9Hq6gj
https://dl.doubtnut.com/l/_Ehdyzm7Czcig
https://dl.doubtnut.com/l/_OABuoOaXcZKj

298. Find the equation of the line through the point of intersection of,
the linesz — 3y +1 = 0 and 2z + 5y — 9 — 0 and whose distance from

the origin is /5

° Watch Video Solution

299. Find the equation of the straight line passing through the point of
intersection of the lines ¢ —y+1=0 and 2x —3y+5 =0 and at a

distance % from the point (3, 2)

° Watch Video Solution

300. If the length of the perpendicular from the point (1, 1) to the line

— + ,hW —_+ — — — _
ar Y C e,sho a

° Watch Video Solution



https://dl.doubtnut.com/l/_OABuoOaXcZKj
https://dl.doubtnut.com/l/_lsPdFGZsoey9
https://dl.doubtnut.com/l/_AGm2Dz5bKFIY

301. Find perpendicular distance from the origin of the line joining the

points (cos @, sinf)and (cos ¢, sin ).

° Watch Video Solution

302. If p and p; be the lengths of the perpendiculars drawn from the

origin upon the straight lines
1
xsinf + ycos O = Easin29 and z cosf — ysinf = a cos 20, prove

that 4p* + p* _ 1 = a?.

° Watch Video Solution

303. Prove that the perpendicular distance between the lines

4z + 3y = 11and 8z + 6y = 15 is %

° Watch Video Solution



https://dl.doubtnut.com/l/_1OaQZ6CQ17MX
https://dl.doubtnut.com/l/_qhWYU7HqWGiX
https://dl.doubtnut.com/l/_7ds6sSX5oju4

304. Find the distance between the parallel lines 3z4y + 7 = Oand

3z4y + 5= 0.

° Watch Video Solution

305. If sum of the perpendicular distances of a variable point P(z, y)from
the lines z + yb = Oand 3x2y + 7 = 0Ois always 10. Show that P must

move on a line.

° Watch Video Solution

306. Determine the distance between the pair of parallel lines :

dr —3y—9=0and 4o —3y—24 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_GDVjw8lqLsoq
https://dl.doubtnut.com/l/_vAgUYygkOxE2
https://dl.doubtnut.com/l/_3cMlc4ESWNZw

307. Find the distance between parallel lines (i)
15z + 8y 34 = 0Oandl5z + 8 + 31 = 0

iz + v + p = 0 (z + vy r =0.

° Watch Video Solution

308. Find the distance between the parallel lines 3z4y + 7 = Oand

3z4y + 5= 0.

° Watch Video Solution

3009. Find the distance between parallel lines (i)
15z + 8y 34 = 0Oandl5z + 8 + 31 = 0
iz 4+ vy + p = 0 (z + vy r =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_VOknWmRSOHho
https://dl.doubtnut.com/l/_4EKG4S5LjMOq
https://dl.doubtnut.com/l/_GwtdR6F6IuBD

310. Prove that the lines 2x +3y =19 and 2z +3y+ 7 =0 are

equidistant from the line 2z + 3y = 6.

° Watch Video Solution

311. Find the equation of the line midway between the parallel lines

9z + 6y — 7 = 0 and 3x+2y+6=0'

° Watch Video Solution

312. Find the distance between the lines y = zm + ¢ and y = mz + d.

° Watch Video Solution

313. If two sides of a square are along 5z — 12y + 26 =0 and

5r — 12y — 65 = 0 then find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_pp6bEP4Ca5Ze
https://dl.doubtnut.com/l/_fXAp4qdItGWc
https://dl.doubtnut.com/l/_ZWWhTy5UsHgo
https://dl.doubtnut.com/l/_mzIBtJPwMuO4

314.The equations of two sides of a square whose area is 25 sq.units are
3 —4y = 0 and 4x + 3y = 0. The equation of the other two sides of

the square are

° Watch Video Solution

315. Prove that the diagonals of the parallelogram formed by the lines
V3z+y=0,y3y+z=0,3z+y=1and \/3y+xz=1 are at

right angles.

° Watch Video Solution

316. Prove that the diagonals of the parallelogram formed by the four
lines 3z +y=0,3y+z=0,3x+y=4,3y+z =4 are at right

angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_mzIBtJPwMuO4
https://dl.doubtnut.com/l/_XZmJJUUR5gbq
https://dl.doubtnut.com/l/_iugbI2hmkl7g
https://dl.doubtnut.com/l/_HeQQNk28y74z

317. The equation of one side of a rectangle is 3z — 4y — 10 = 0 and the
coordinates of two of its vertices are ( — 2,1) and (2, 4). Find the area
of the rectangle and the equation of that diagonal of the rectangle which

passes through the point (2, 4).

° Watch Video Solution

318. Area of the rhombus bounded by the four lines,axz &by == c = O is

° Watch Video Solution

319. Prove that the product of the length of the perpendiculars from the
points ( a? — v, 0) and ( — va® — b, 0) to the line

£c059 + gcosl9 + gsin@ =1is
a a b

° Watch Video Solution



https://dl.doubtnut.com/l/_4BGqwPa135qm
https://dl.doubtnut.com/l/_mZlBHxY1dTEB
https://dl.doubtnut.com/l/_QKBfE9qe0fPK

